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(1) Survival Rate: ① → 1 : 0.95

I → 2 : 0.97

2 → 3 : 0.9

Fertility Rate: 0 : 0.1
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2 : 0.9

3 : 0.1
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Then:
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Maple is attached . Both methods have the same holt)
= 0.1%(1--1) -11.14 holt - 2) -10.82935 holt -3)

growth constant +0.082935 holt - u)
(2) Leslie Matrix REC = [0.1 , 1.14 ,
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Eigenvalues done in Maple (attached) . It agrees with Problem I
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(b) Maple ⇒ see attached
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RecToSeq(INI,REC,N), GrowthC(INI,REC,K) , GrowthCe(REC)

 LeslieMod(SUR,FER): e.g. LeslieMod([9/10,9/10],[0,1,1]);

 LeslieMat(SUR,FER); e.g. LeslieMat([9/10,9/10],[0,1,1]);

 GR(p,i,N), GRt(p,i,N),  GRm(N,p), OneStepMarkov(P,i), MarkovTrip(P,K), StSa(P,K) ,  StS(P), 

StSp(P,K), RandSM(N)  
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